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1 [BIES kg 1 |®HIFEs 1kg
2 |E=Ff kg 2 |F(Ff EeR 314| 1kg 2,160 864
3 |<Ahb 1kg 3 [KAh | gl 98| 1kg 756 432
4 |31E EE-=E 129 1kg 2,776 648| 4 [=IF kg
5 |HL =84 78| kg 3,132 778] 5 |HL 1kg
6 [LvbL S 107 1kg 410 6 [LvbL 1kg
7 |33000 | BHE 80| kg 648 7 |[5H0 1kg
8 |SAFE kg 8 |SAFE 1kg
9 |&Y =x 27| kg 3,024 1,782| 9 | &Y 1kg
10 |&ZL k=1l 43| ke 972 10 |[&ZL 1kg
11 |hoF BR 80| kg 972 756| 11 [h2& 1kg
12 |7=Ly =5 355| kg 2,700 918| 12 |#=L» 1kg
13 [IFFH kg 13 |IFFES kg
14 |AALLy 1kg 14 | ALY kg
15 B8 1kg 15 |58 =i 20| 1kg 2,808 1,728
16 |AM< kg 16 |AM< kg
17 |Z T B4 AT 22| kg 2,592 1,804| 17 |Z U 1kg
18 [YLyh iR 20| 1kg 1,350 18 [YLyh 1kg
19 |f=C JLiEE 15]  1ke 3,240 2,916| 19 |=C 1kg
20 |ME kg 20 | A= kg
21 |BHSY e 10| kg 1,512 1,296 21 |H=Y 1kg
22 | RARHWP 158 22 | RAHYP | ZE 105| 1% 30,240 2,160
23 |BEHP |2 wE 215 kg 2,592 2,160| 23 |ETEHD kg
24 |SHE B4 P E 655| kg 6,264 5,184| 24 |5#4F 1kg
25 |ISLET ke 25 |ISLET 1kg
26 |HFEZ kg 26 |HFEZ kg
AERA BT AT &
xRS xRS
& 2k & 2k
5| mB | EM (%Eke)| B | SfE | PiE | TE |5 | RE | Eh | BEKe | Hfi| SfE HiE | RiE
1 |Aslr ny7-FY 461 1kg 2,808 1,134 1 |iExlF JYI—-7) 1,316] 1kg 1,620 756
2 |AhIZ BY7 by 31 1kg 4,752 3,240 2 |BE = FE 403| 1kg 1,318 864
3 |BAU (my7-hty 412 kg 6,102 2,052| 3 iESAFE ke
4 |AFLbL| BiE 112] 1ke 886
5 |BASHL Ri& 120] 1% 270 130
6 [BYDHA ZH 50| 1kg 2,052
7 |Ih&F kg




